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Cisco |0Sd2| CPU Al

|I0Sdo| A CPU At22F2 2 LIE{2!6t2{2 show process cpu HE2 Al&tistL|Ct,

#show process cpu
CPU utilization for five seconds: 1%/0%; one minute: 1%; five minutes: 0%

PID Runtime(ms) Invoked uSecs 5Sec IMin 5Min TTY Process
1 2 8 250 0.00% 0.00% 0.00% O Chunk Manager
2 5 18 277 0.07% 0.00% 0.00% O Load Meter
3 0 2 0 0.00% 0.00% 0.00% O DiagCard4/-1
4 0 1 0 0.00% 0.00% 0.00% O Retransmission o
5 0 1 0 0.00% 0.00% 0.00% O IPC ISSU Dispatc

Z240f CPU AFS 0l CHEH = 7H2| Zt0] EAIEILICH & #IM| ZH & CPU AL E0|T & #imi 2t
2 |0SdE MEE QIE{-HE o8t cPU Lt

EHo| CPUE 7HY B0l AL8stE Z2MAE E AlSHE4H show process cpu sorted BEE A
LICH.
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#show process cpu sorted
CPU utilization for five seconds: 1%/0%; one minute: 0%; five minutes: 0%

PID Runtime(ms) Invoked uSecs 5Sec IMin 5Min TTY Process
64 103 10 10300 0.33% 0.02% 0.00% O Licensing Auto U
83 26 231 112 0.27% 0.00% 0.00% O PuntInject Keepa

235 555 48176 11 0.11% 0.09% 0.07% 0 Inline Power
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#show pTlatform hardware qfp active datapath utilization

CPP 0: Subdev 0 5 secs 1 min 5 min 60 min
Input: Priority (pps) 0 0 0 0
(bps) 0 0 0 0

Non-Priority (pps) 3 2 2 1
(bps) 1448 992 992 568

Total (pps) 3 2 2 1

(bps) 1448 992 992 568

Output: Priority (pps) 0 0 0 0
(bps) 0 0 0 0

Non-Priority (pps) 3 2 2 1
(bps) 12216 8024 8024 4576

Total (pps) 3 2 2 1

(bps) 12216 8024 8024 4576

Processing: Load (pct) 0 0 0 1
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#show processes cpu platform
CPU utilization for five seconds: 30%, one minute: 29%, five minutes: 29%
Core 0: CPU utilization for five seconds: 13%, one minute: 13%, five minutes: 13%



Core 1: CPU utilization for five seconds: 2%, one minute: 3%, five minutes: 3%
Core 2: CPU utilization for five seconds: 0%, one minute: 0%, five minutes: 0%
Core 3: CPU utilization for five seconds: 99%, one minute: 99%, five minutes: 99%

Pid PPid 5Sec IMin 5Min Status Size Name
1 0 0% 0% 0% S 1863680 1init
2 0 0% 0% 0% S 0 kthreadd

EE = show platform software status control-processor W& A&t |C}.

#show platform software status control-processor

<output omitted>

Per-core Statistics

CPUO: CPU Utilization (percentage of time spent)
User: 4.80, System: 10.30, Nice: 0.00, Idle: 84.50
IRQ: 0.40, SIRQ: 0.00, IOwait: 0.00

CPU1: CPU Utilization (percentage of time spent)
User: 2.00, System: 3.40, Nice: 0.00, Idle: 94.59
IRQ: 0.00, SIRQ: 0.00, IOwait: 0.00

CPU2: CPU Utilization (percentage of time spent)
User: 0.50, System: 0.00, Nice: 0.00, Idle: 99.49
IRQ: 0.00, SIRQ: 0.00, IOwait: 0.00

CPU3: CPU Utilization (percentage of time spent)
User: 24.72, System: 75.27, Nice: 0.00, Idle: 0.00
IRQ: 0.00, SIRQ: 0.00, IOwait: 0.00

B34, show platform software status control-processor brief &2 A5 CHS W & 5tLEo]
MX|E Zo{o| ¥O| EA|IELICE

#show platform software status control-processor brief
<output omitted>
CPU Utilization
STot CPU User System Nice Idle IRQ SIRQ IOwait
RPO 0 4.30 9.80 0.00 85.90 0.00 0.00 0.00
1 0.79 0.99 0.00 98.20 0.00 0.00 0.00
2 0.50 0.00 0.00 99.50 0.00 0.00 0.00
3 24.60 75.40 0.00 0.00 0.00 0.00 0.00
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hot-spin AF2ZFE E A|5t2{™ Cisco 10S XE 16.6.x 0|%10{| show processes cpu platform sorted &
HE ALt

#show processes cpu platform sorted

CPU utilization for five seconds: 28%, one minute: 29%, five minutes: 29%

Core 0: CPU utilization for five seconds: 12%, one minute: 13%, five minutes: 14%

Core 1: CPU utilization for five seconds: 2%, one minute: 3%, five minutes: 3%

Core 2: CPU utilization for five seconds: 0%, one minute: 0%, five minutes: 0%

Core 3: CPU utilization for five seconds: 99%, one minute: 99%, five minutes: 99% <<< hot-spin

Pid PPid 5Sec IMin 5Min Status Size Name
2541 1955 99% 99% 99% S 1073807360 (qfp-ucode-utah <<< high CPU process
1551 929 7% 7% 7% S 2038525952 fman_fp_image
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#show processes cpu platform sorted
CPU utilization for five seconds: 15%, one minute: 14%, five minutes: 15%
Core 0: CPU utilization for five seconds: 6%, one minute: 4%, five minutes: 8%

Core 1: CPU utilization for five seconds: 1%, one minute: 0%, five minutes: 2%
Core 2: CPU utilization for five seconds: 9%, one minute: 10%, five minutes: 7%
Core 3: CPU utilization for five seconds: 1%, one minute: 2%, five minutes: 1%
Core 4: CPU utilization for five seconds: 1%, one minute: 1%, five minutes: 1%
Core 5: CPU utilization for five seconds: 0%, one minute: 0%, five minutes: 0%
Core 6: CPU utilization for five seconds: 99%, one minute: 99%, five minutes: 99% <<< hot-spin
Core 7: CPU utilization for five seconds: 0%, one minute: 0%, five minutes: 0%
Pid PPid 5Sec 1Min S5Min Status Size Name
3432 2779 99% 99% 99% S 1086341120 (¢fp-ucode-utah <<< high CPU process
2612 1893 7% 7% 7% S 2038697984 fman_fp_image
26114 25132 4% 5% 5% R 42803200 hman
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CPU utilization for five seconds: 31%, one minute: 32%, five minutes: 29%
Core 0: CPU utilization for five seconds: 3%, one minute: 3%, five minutes: 3%
Core 1: CPU utilization for five seconds: 3%, one minute: 2%, five minutes: 2%

Core 2: CPU utilization for five seconds: 39%, one minute: 41%, five minutes: 34% <<< load distributed
Core 3: CPU utilization for five seconds: 84%, one minute: 83%, five minutes: 79% <<< load distributed

Pid PPid 5Sec IMin 5Min Status Size Name

26939 26344 127% 126% 116% S 1195311104 ¢fp-ucode-utah <<< high CPU process
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CPU utilization for five seconds: 30%, one minute: 24%, five minutes: 27%
Core 0: CPU utilization for five seconds: 41%, one minute: 13%, five minutes: 13%

Core 7: CPU utilization for five seconds: 93%, one minute: 81%, five minutes: 81% <<< load distributed

PPid 5Sec IMin 5Min Status Size Name

26049 25462 164% 165% 170% S 394128 qfp-ucode-utah <<< high CPU process

Core 1: CPU utilization for five seconds: 23%, one minute: 11%, five minutes: 13%
Core 2: CPU utilization for five seconds: 19%, one minute: 10%, five minutes: 12%
Core 3: CPU utilization for five seconds: 38%, one minute: 12%, five minutes: 12%
Core 4: CPU utilization for five seconds: 28%, one minute: 26%, five minutes: 28% <<< load distributed
Core 5: CPU utilization for five seconds: 53%, one minute: 40%, five minutes: 37% <<< load distributed
Core 6: CPU utilization for five seconds: 18%, one minute: 16%, five minutes: 17% <<< load distributed
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https://www.cisco.com/c/ko_kr/support/web/tsd-cisco-worldwide-contacts.html
https://www.cisco.com/c/ko_kr/support/web/tsd-cisco-worldwide-contacts.html
http://snmp.cloudapps.cisco.com/Support/SNMP/do/BrowseOID.do?local=en&translate=Translate&objectInput=1.3.6.1.4.1.9.2.1.56
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